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I. Write down only the answers of the followmg questmns
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I. Write down only the answers of the followmg questions:
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,f‘f 1I. Find the horizontal asymptdté of tl}e function f (x)= x +m -
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Q1) Fill in the blanks in each of the followin
1) The domain of f (x)=In(x -1+ 4-x
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2) The vertical asymptote(s) of the graph of fe)=
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Q2)a) Let f(x)= 2" . Find £~ (x).

b) The graph of a function f is given. Use it to sketc

h the graph of 1—f(x +4)
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Q) The following q
Write {x) on the correci™an

1) If F(x) = . gx) = fo2)(2) =

(2) + O (@) 2 O+ ™
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In the following questions show your work in details.

Q,) (3+2 marks) Let £(x) = 3 - 2sin"'(2x— 1) Find,
a) The domain and range of £ b) F(+ + L sinf

6\) _..'_l}:n_c Aouq'tn 3
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£s) Let F(x) = So. Find, ) _
Q) <‘3{+ 2 mark et ! ) bl) Classify £~ (x) as even, odd, or neither.
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Wi. Let f(z) = 2° 4 2z olf J( ) is obtamed by qhxftm% f(z) 2 units to the right and

then 3 units upward, then g(z) = (X.= 2.) A+.2.0X *3 = K*-2X+3
Q2. Let Dom(f) = [1 5. If g(z) = 2f(z — 3), then Dom(g) = [L* g_& ..................
w i
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- Q4. cos™!(cos éz) = .. .;:.:..K, ......
3 Z 2
Q5. If f(z) = cos® z — sin® z + 3, then Range(f) = I/q] .....................
Q6. If f(z) = Inz + /3 =z, then Dom(f) — @9/31@/ .........
\Bcens | P e
Q7. 1If f(z) = 2° + 2 + a is an odd function, then o + . Q... 7. :;fx -
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Q8. Solve log, z + log,(z — 3) = logz 9
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Q9. Let f(z) = s
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